
Revision answer sheet about multiplication -2 

1. 

     In 1 day  Meena reads 12 pages 

So, In 4 days Meena reads (12×4) pages 

                                           =48 pages. 

Ans: 48 pages. 

2. 

      In 1 day Raju’s father works 12 hours 

So, In 3 days Raju’s father works (12×3)hours 

                                                             =36 hours 

Ans: 36 hours. 

3. 

      1 copy price is 30 taka  

So, 3 copies price is (30×3) taka 

                                      =90 taka  



Ans: 90 taka 

4. 

       In 1 packet there are 2 lozenges 

So, In 8 packets there are (2×8) lozenges 

                                                =16 lozenges 

Ans: 16 lozenges. 

5. 

       In  1 bench can sit  5 pupils 

So, In  10 benches can sit (5×10) pupils 

                                                    =50 pupils 

Ans: 50 pupils. 

6. 

       In 1 day father walks 4 hours 

So,  In 7 days father walks (4×7) hours 

                                                =28 hours 



Ans: 28 hours. 

7. 

      1 book costs is 21 taka 

So, 4 books cost is (21×4) taka 

                                   =84 taka 

Ans: 84 taka. 

8. 

      In  1 day  we save 7 taka 

So, In 7 days we save (7×7) taka 

                                        =49 taka 

Ans: 49 taka. 

                             The end   

 

       

    



 

 

  

 


